EARAROBEEIERT — 2 N— IBISH —F

20135FE3H83H (H) 21[@E&EIL2H

m;izoﬁﬁx TYLRC1Z 5% —f% ‘ (X4&] # ‘ (@l — | & (@) 12500 &
[AE£] 1% :120,000  ~ 2#&:24,000 ™  33%&:12,000 M  4%&:6,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6l7Lv7un7 44 w%ﬁm 1:(2_3).4 6-4-2-1 |38.7| — 1 446 IIL\%DE;; (G
QATARTIN B TLTY TN — &0 e e
I o4 | SHEX 1:23.7 1-1-1-1 [39.4| — 2 422 | FlIIEFD (481)
g4 /v 5.0 (11/2) G |FEE T
XA Fa—)0 B UNFE Y — XE ES
o T .04 77— . — WMHRE (F&IL)
35| 5| F—FTEAS i 6 B 1(234)4 6-7-7-8 | 39.3 6 (4_713) ahe
LiANRINIZ B:FLI1xLA RS
4 5 | EREH 1:24.6 4-4-55 |39.9| — 8 453 | VEEE (FBI)
4|8[10/MT b .0 3/4) () | BB
2T T—bMVZRTT—K BiYvhXOT1— =Eibae]
5011 TF—WExvr> R it 5 gﬁﬁ’ﬂz 1(:12/42.>7 9-9-9-9 |38.9| — 3 450 @E?éé (L)
L9157 149X B:¥v 2 RULY—EX (-2) B 77—L
08, (S EIREE 224, -0-3~ . = NMEEE (BL)
617l g | K> k=7 i 4 = 1(/%;)7 2-2-3-3 | 40.2 7 :51;(1)) ;51;%5 =
L:¥r/n7a4 B:U54 KF el FEiE e
. . 1EREH 124. -3-3- . — MAGER (1R
7 2 ZEY b=V 6 54.0 ’ 1(12/42)8 §383 401 ° (4:23) EAﬂﬂl’% )
R:T7RIAY KRR B:vo—7 FRT7— L
YIS S 7 ER g 124, -4-5- . - KE=S (fEL)
8 3| 6vion7% it 4 e 1(12/42)9 4-4-5-5 | 40.2 4 <4+911) i
:yQ7% B:xYTI5—F [al= e ]
— s 211754 : -8-8- — w@lfEs (' )
9l8l9 LFq—awo4— 4 6 =0 1.(215).1 8-8-8-7 |39.7 10 (3527) -ty &
R:ARLE—ALF—T BT LTIE— FhH)Tp—L
) s 4 | LLIEFRE 1:29.6 10-10-10-10| 42.2 | — 9 443 | SHUEE (RLL)
1007 7 F7)27 54.0 (214) (-8) WEEEKEKE
R4 IV —FH— BA=ATY B R
® 1—F—@EBIERL
1T=7r= 4,8,2,(3,10), (5,6),9,1,7
23— — 4,8,2,(3,6,10),5,9,1,7
Jol=5r= 4,6,(2,8),(3,10),5,9,1,7
AT =5F= (4,6),(2,8),(3,10),9,5,1,7
[ N5
B 6 210H 714K 4-6 140H e E 4-6 310 JEE 4-5-6 990F4
B B 6 110M 5-6 720M B = 4-6 290M JEE 6-4-5 2,090
4 130M 4-5 680 B H 6-4 440M
5 260M

ABICOVWTRDTEEERROODE. TR LIV,




